JK Crossover Roof Rack System
Installation Guide

Contents:

(2) Crossover Bars

(4) Hard top Brackets

(4) Crossover Brackets

(4) M10x1.50 50mm Bolts

(8) M10 Lock Washers

(4) M10 Nuts

(4) M10x1.50 Folding Bolts

(8) Small (20mm Diameter) M10 Flat Washers
(4) Large (25mm Diameter) M10 Flat Washers
(4) Concave Washers

(8) Felt Pads

Tools Required:

- 16mm Wrench
- 16mm Socket

//Step 2:

Once all four brackets are assembled, locate desired
install location on roof. Using the (8) felt pads, stick the
pads to the hard top to the desired location to prevent
damage to hard top.

//Step 4.

Once brackets are attached to the hard top, install the
crossover bars sliding them under the hard top brackets,
then using (2) M10x1.50 50mm bolts, (2) M10 lock
washers, and (4) M10 (20mm diameter) washers per bar
to secure them. Once secured, flip the handle on the
folding bolts on each hard top bracket, and installation
is now complete.

// Step 1:

Begin by assembling the roof brackets by using (1)
crossover bracket and (1) hard top bracket. Slide the hard
top bracket onto the crossover bracket, then install (1)
M10x1.50 Folding bolt, (1) concave washer, (1) M10 lock
washer, and (1) M10 large (25mm diameter) flat washer to
secure the two brackets together. Do this for all provided
brackets.

**Note: Leave loose for now for adjustments later.

//Step 3:

Install brackets onto hard top by sliding the lower
portion into the channel. Tighten the folding bolt snug,
but do not flip the handle over. Do this for all four
brackets.

SKU J132753



